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Question Number : 1 Question Id : 140973501 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the term that is related to the third term in the same way as the second term is related to the first term.

Baker : Cakes : : Mason : 7

Options:
1. « Bulbs

? . DBuildings

3. # Clothes

4 % Cars

Question Number : 1 Question Id : 140973501 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3W 9 F 9GS F{ A S TG ¥ S 3ET g FEAd g 90 YR gE 98 Yge 9E ¥ FEOA gl
ST ;e TSATHET 7
Options:

1. = &=

2. v O



Question Number : 2 Question Id : 140973502 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the term that is related to the third term in the same way as the second term 1is related to the first term.

£ Shatb | § et S
Options:

1.« 26

Question Number : 2 Question Id : 140973502 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

38 98 & 9495 HL A JE 98§ 3% 3 g §EUd § O TR g8 9 96 98 ¥ §EfA gl

68 =80 : 2 83 : 2
Options:

1. v 26



Question Number : 3 Question Id : 140973503 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the term that is related to the third term in the same way as the second term is related to the first term.

FIESTA : HLIXZH : : ROCKY : 7
Options:
1. » TSHQF

i

9 % SPDLZ

i

3. % ISKGY

A. » TRGPE

Question Number : 3 Question Id : 140973503 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3H UG & 994 B A A 96 § S FHT g HAUd ¢ (o8 9PN gE 9 Yeel 9¢ § HA9d g

FIESTA : HLIXZH : : ROCKY : ?
Options:

1. = TSHQF

2 % SPDLZ



3. % ISKGY

4. v TRGPE

Question Number : 4 Question Id : 140973504 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Of the four words given below, three are alike in some manner, while one is different. Choose the odd one.
Options:
1. = XC

? w RI

3. & OL

4 v SF

Question Number : 4 Question Id : 140973504 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FaAfT@T 937 A, 91 o o7 7 § o9 ¥ 99 5 99R ¥ s gAA § F8i5 Itur @ 2
TwT 1 T3 FfFT

Options:
1. = XC
2. = RI



4. v SF

Question Number : 5 Question Id : 140973505 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Of the four words given below, three are alike in some manner, while one is different. Choose the odd one.
Options:
1. % Indolent

? « Zealous

3. ® Laziness

Idleness

4.

&

Question Number : 5 Question Id : 140973505 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ArARET g9 #, 97 g B 7 § T9E @ 99 B 9R ¥ s gAw § i Stur @ 2
T #1 =3 fifaw

Options:

1. % Indolent

7. « Zealous

3. % Laziness

4. « Idleness

Question Number : 6 Question Id : 140973506 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
Of the four words given below, three are alike in some manner, while one is different. Choose the odd one.

Options:
1. » Chandigarh

? % Puducherry

3  Chhattisgarh

4. » Lakshadweep

Question Number : 6 Question Id : 140973506 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR T # I g Y ™ & Ged ¥ 99 & R & v mAw § Set S e B
TwT &1 33w FIfFT

Options:

1. = T
2 ® ad
3 o TedlETe

Question Number : 7 Question Id : 140973507 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the Venn diagram that best represents the relationship among the given set of classes.

Engineers, Professionals, Dieticians

Options:



1.«
@)

2, ®
®

3. =
O
L

Question Number : 7 Question Id : 140973507 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 9 AW & 944 L A G TH F90 % FHAT F T FIY FEW HO! AE A &

SSlfagy, J9IEY, HER s

Options:

&




5

Question Number : 8 Question Id : 140973508 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Which shape will form if the two given shapes are combined without any rotation?

Options:

LN



Question Number : 8 Question Id : 140973508 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ofg & i gt i # e & oue F Tueg s Tw Sar € O S @ et g

Options:



Question Number : 9 Question Id : 140973509 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the given bar graph. what is the average annual increase in the value of the production (in ¥ millions) from
2015 to 20197

Production of cars in a
metropolitan city (in ¥millions)

015 B

Years

S 100 15000 20000 25000 30000

Production { in ¥ millions)

Options:
1. = 12.000

2 » 16,800
3 % 3.000
4.« 3.750

Question Number : 9 Question Id : 140973509 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



few =TT &% I F FER, 2015 ¥ 2019 TF 379EA F Too (X Bfewa 7 ) # siwg afits iz 7
22

Production of cars in a
metropolitan city (in Tmillions)

Years
|

2016 DRTISERETRETNAEN]

p
1 . 12,000
5 . 16,800
3 . 3,000
4. « 3,790

Question Number : 10 Question Id : 140973510 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Shanti wanted to rent out her house and sets the following criteria to choose a tenant:
e The person should be educated and married

e The couple should at least be postgraduates and fluent in spoken English

e They should not have any addictions like drinking alcohol or smoking

o Their total annual income must not be less than T72.000.

Amit and Pakhi are looking to rent a place. The details about both of them are given below. Which of the following
criterion/criteria can be a reason for them NOT getting Shanti’s house on rent?

(1) Amit works in the IT sector and earns 80,000 annually, while Pakhi is still in college and hence unemployved.
(i)  Amit and Pakhi have done their post-graduation from a central university and speak fluent English.
(iil)  Amit is a vegetarian and doesn’t drink alcohol while Pakhi drinks alcohol regularly.

(iv)  Neither Amit nor his girlfriend Pakhi smoke cigarettes.



Options:

1 o (). (V)

7« (0. (i)

3' w I':l:} {ﬂ)

4 o G

Question Number : 10 Question Id : 140973510 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

M HI=AT O TRUT X &7 TR o 3R fodEr 99w & o Teafof@e Aees e e &

iea fAifde it Teafea = =nfge

ST FH ¥ FH FEecaT T 39T aee & 38 8 TeT
378 WT I AT GHANH F ST HIg HET Gl gl a1
3o FoT AMYe 37T 372,000 & FH A& gr =1fgw

#Eg 3R I T W T g W £ A e g T o #) Geee@a F ¥ s
AAgs 3% forw T T aify & oY 781 es &1 tF ST @ §ehaT 27

(i) 3T 3B &7 F F1H FLar § 3R Frem=r 780,000 FHATET &, ST arar 30’ off Fos 7 &
3T =R &

(i) FFF AT I F FEw Fealegew 7 =asear & T avEg #9ET § 99 #1d E

(i) 31THT e FET AT AT T ¥ SEE o fufhe 79 @ e 9 7

(iv) & ar sffAa 3t 7 & sudr affer g e 9T #

Options:

1 o (i), (v)

5w (), (i)



3. = (@), ()

4w (i)

Question Number : 11 Question Id : 140973511 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
Identify the correct mirror image of the given word from the options when the mirror is placed to the right of the word.

INFINITESTIMAL
Options:

INALWITIETIMAL
1. =

JAMETZITINEINI
2. ¢

7 % IMIINLITECTIMAY

4 % JAMIT2ATIVENI

Question Number : 11 Question Id : 140973511 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

T SUUT T ET T e F S AW TW@T 1T 8, 99 [Seedr # ¥ T AT e Fr wEr guur ofy &+
qE= |

INFINITESTTMAL
Options:

_.I - IWALNITI2TIMAL



2 v JAMETZ3ITINIINI

3 IMAINLTEZTIMAL

&5

4 JAMIT2ITIWIRWI

8

Question Number : 12 Question Id : 140973512 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
Given below is a square piece of paper that has been folded twice as shown in the first two figures. Then the folded

paper is cut as shown in the third figure. How will the paper appear when it is unfolded?

Options:
o O
a 'l'._-:'
oo oo
O B
1. v ===
o O
a 'l'._-:'
oo oo
O B
2. % L2




Question Number : 12 Question Id : 140973512 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A FETS F UF FMAR gheT fear 7ar g Tod gen ar wpfadt # feu 39En ar R Hisr v 2
3TH §IC AS T FETS N FE AT g AE B SEy 3l # fEwmr mr ) 5§ 9w & @rer S
g, dr IR Far eme gIm?

Options:
]
o
oo <o
O m
1. » -
]
o
oo o
O m
2.« L—2=

Question Number : 13 Question Id : 140973513 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Count the number of triangles in the given figure.

Options:



2?2 % 16
3. % 28

4 w 20

Question Number : 13 Question Id : 140973513 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

&r a1 i F T #r §Ew $ auer w5

N\

N
Options:
1. » 32
2. % 1B
3 = 28
4. = 20

Question Number : 14 Question Id : 140973514 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

X is the only child of P. X marries W and has a son O. W has a brother R. S is the granddaughter of P. How is S related
to R?
Options:



1. » Nephew

? « Niece

Wife

-
%

4 = Cousin

Question Number : 14 Question Id : 140973514 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

X, P & gohellcl s==M g1 X T Tag W A g g IR @R WF T OEI W H TH IR R 81 S, P
T O ¥ S IR T T HEY 32

Options:
1. = ST
2. v o=
3. = df
A w TEO G

Question Number : 15 Question Id : 140973515 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

The only daughter-in-law of Y’s grandmother has two brothers A and Z. A got married to W and has a son P. How is P
related to Y?

Options:

1. » Nephew



? % Husband

3 % Grandson

4 « Cousin

Question Number : 15 Question Id : 140973515 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

YR HeFAN GF T AN ZI AT REEW A G AT HE @ P EI P HY
T T HET g7

Options:
1. = #d=r
2 x 9

4. » T SEAEET TR

Question Number : 16 Question Id : 140973516 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

The brother of W’s aunt is the only son of H. How is W related to H?
Options:
1. + Grandchild

? % Nephew



3 4 Sibling

4 % Parent

Question Number : 16 Question Id : 140973516 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

W & =Tl % o718 @7 Sellar 99 H 81 W T H & & Jeay g2

Options:

1. v camer

2. w HASSEAET

3.« HIS/EEA

Question Number : 17 Question Id : 140973517 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
44% marks are required to pass an entrance exam. An examinee scored 134 marks but failed to pass the exam by 108

marks. The maximum marks were:
Options:

1. = 380
2?2 % 670

3. % 490



4. & 550

Question Number : 17 Question Id : 140973517 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U 939 8T & 3ca1or gl & T 44% e ¥1aeTes #1 Ue giemedt 3 134 3% greg e 3w 108
IFT T U 30T F H FOES @ HOFas JF g 97

Options:
1. %= 380
2 % 670
3. % 490
4. » 550

Question Number : 18 Question Id : 140973518 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
Rahul has six boxes in his kitchen in which he stores different spices. How much time will he take. if he arranges these

boxes on his kitchen rack in every possible combination taking one minute for each combination he tries?

Options:

1. + 12 hours

? % 3 hours

3. # 35 hours

7 hours

e
%

Question Number : 18 Question Id : 140973518 Question Type: MCQ Option Shuffling : Yes



Correct Marks: 1 Wrong Marks: 0.25

g F e # oF S § OwH 98 o3 #Ae 1R AT 81 A 98 5 a9l A e o
Y& 7 IeiF Talad FO & FGER W@ § AT 3F W UF TeW H TUEERg e 3 @S H
&% v B oar & T 38 Fo ger wAg FEET?

Options:
1. v 1292
2 % 3H
3 % 5ue
4. « 79

Question Number : 19 Question Id : 140973519 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Pick the odd one out.
Options:

1. ® Snow
? % Hail
3. # Sleet

4 « Rain

Question Number : 19 Question Id : 140973519 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ffof@a & @ foww ==

Options:



4. » @

Question Number : 20 Question Id : 140973520 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Pick the odd one out.
Options:
1. » Kayaking

Canoeing

#

/il

3 Rafiing

&

4.  Snorkeling

Question Number : 20 Question Id : 140973520 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

ffof@a & ¥ fowsw =41
Options:

1. = FafFT
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Question Number : 21 Question Id : 140973521 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the term that will replace the question mark in the following series.

6. 13, 78,7, 79092
Options:
1. & 3004

Question Number : 21 Question Id : 140973521 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3T USE FH TTS F{ FT AT H 92 FEd F TAF W AT

6, 13, 78, 2, 79092

Options:
1 = 3004
2 » 2568
3. v 1014
4 = 4078

Question Number : 22 Question Id : 140973522 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the term that will replace the question mark in the following series.

UWOQOX LY LZE
Options:
1.« M

Question Number : 22 Question Id : 140973522 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IH USE F TIA F HAT ST H A FEA F TUF T AT

oo & X 28 L2 E

Options:
1. ¢ M
2. » O
3 u B
4, = ¥

Question Number : 23 Question Id : 140973523 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
Select the term that will replace the question mark in the following series.

52,392, 94, 122, 157

Question Number : 23 Question Id : 140973523 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IH USE H TIA F HAT TN H T FEA F TUF T AT

52, 59, ?, 984, 122, 157

Options:

T w 7
2. o 18
3 = 82



Question Number : 24 Question Id : 140973524 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the term that is related to the third term in the same way as the second term is related to the first term.
Screw : Screwdriver : : Bolt : ?

Options:
1. « Spanner

? % Rake

3. ® Hammer

A % Saw

Question Number : 24 Question Id : 140973524 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

3H UG & 994 B A A 96 § S FHT g HAUd ¢ (o8 9PN gE 9 Yeel 9¢ § HA9d g
99 Sueg ; : see @ ?

Options:

1. v B

2. = &

Question Number : 25 Question Id : 140973525 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the term that is related to the third term in the same way as the second term is related to the first term.
GAMES - HCPIX : : THROW : 7

Options:
1. & UKVSZ

2 % UIVSZ

3 « UJUSB

A % UIVSB

Question Number : 25 Question Id : 140973525 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

38 98 & 9494 H A JE 96§ 3% 3 g §EUd § O TR g8 98 96 98 ¥ §EUA gl

GAMES : HCPIX : : THROW : ?

Options:
1. = UKVSZ
2. x LIVSZ
3. v UJUSB
4. » UJVSB

Question Number : 26 Question Id : 140973526 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Pick the odd one out.
Options:



1'\,? BX

DW

-2
#®

FU

-
%

CX

-
%

Question Number : 26 Question Id : 140973526 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafafee & & faww ==
Options:

1. v BX

2. = DW

3 = FU

4. = CX

Question Number : 27 Question Id : 140973527 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Pick the odd one out.
Options:

1. = Milk

? « Yen



Question Number : 27 Question Id : 140973527 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fefof@a & ¥ fww =41
Options:

1. = Milk

? « Yen

3 « Egg

4 = Yam

Question Number : 28 Question Id : 140973528 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the Venn diagram that best represents the relationship among the given set of classes.

Dance, Bharatanatyam. Malayalam

Options:

@0

1. v



2.

O
g w0
4, = é%

Question Number : 28 Question Id : 140973528 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

39 9 W & T4 B A G TH T % FHAT & T FIY FEW HO! AE A &

Jcd, FTAACTH, HAdToH

Options:

@O
1. ¢
2. =




&

Question Number : 29 Question Id : 140973529 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Which shape will be formed if the two given shapes are combined without any rotation?

Options:

> & &



Question Number : 29 Question Id : 140973529 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

oy &r Tl Y sl 1 A R auE F Tues s Gw S S @ ey g

RS

Options:



Question Number : 30 Question Id : 140973530 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
A recruitment firm has determined the following selection criteria for a job. The candidate should have:

e secured at least 60 % marks in Class 10, Class 12 and graduation
e Not exceed 30 years of age as on 11t January, 2018

e acertificate as regular student and one vear’s work experience in XYZ course

¢ cleared the GD round before the interview

The details of Avantika, a candidate, have been given below. She was not selected for the job. Due to which of the
following reason/s was she NOT selected for the job?
(i) She cleared the GD round

(ii)  She joined XYZ course for five months
(iii) She secured 75 % and 72 % marks in Class 10 and Class 12 respectively and completed her graduation in 2016
with 61 % marks

0 th

(iv)  She was born on 10™ January. 1991

Options:

1. = @G

2. v G

3, « (i) (i)

4 « G

Question Number : 30 Question Id : 140973530 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



v st (Rpedie) &1 7 A0 W FgiFa & P B Aaes Fuifa & 8
siemeft & w10 &, Faw 12 & 3R =as # 9 ¥ F9 60% 3% 9eg g ATl
aseft & 3 11 STl 2018 T 30 aW & HfL w7 g T
AT F T IR O F T H TF THUT 97 BT AT IR XYZ TSR A A FR T S 1 99
FE s & T
* 3 FIETHFR ¥ 92 S U3T H 3907 4T Wi
* v et arafaer Fr faever A= G e B @ Al F v @ g o o R A
P W FROT H TIE W W Al F v 78 o mare
(i) € & 3T H 3T o
(i) 3H 9T Al 9gor XYZ UISTERA H T o g
(iii) 3T T 10 I 3% Faw 12 & F FAer: 75% 3% 72% 37 g Fw or 3w 2016 F 61%
3T & W TR H TGS T A
(iv) 3T S 10 Fear 1991 &l g3 om|

Options:
1. % (@), (i)
2 (i)
3w (i), (i)
4. w (i)

Question Number : 31 Question Id : 140973531 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

You work at a BPO and have five employees working under vou. One of the employees has been showing lack of
sincerity in his work for a week. Which of the following corrective actions would be the most effective?

Options:

1. ® Threaten to fire him.

2 Tell other employees about his behavior.



3 x Ignore him.

4. » Talkto him and inquire about the reason

Question Number : 31 Question Id : 140973531 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HT T ST # F1F Fa & 3 39 3 9" S5 #ERg 2 UF Faa o i TeaE §
I FH F 9 Tver F w47 e w8 e # ¥ o @ FERT g9 J0s g9Er e

Options:

1. » ¥ Ae0 ¥ P & amdr W

2k 3T FAAMEN B 3HE TIgN & IR H T

3. x 3T AR <UF F T

4 o I TG FA AR FROTF AR A oA

Question Number : 32 Question Id : 140973532 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Given below is a piece of paper that has been folded twice as shown in the first two figures. Then the folded paper is cut

as shown in the third figure. How will the paper appear when it is unfolded?

Options:

oo
O<f




o<lo
2w
. |BlenO
2!“
o <l
2 8
oo
3.
o o
2 W
¢l o
4[3;;

Question Number : 32 Question Id : 140973532 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A FETS H UH TS 64T AT § o Tgel & pfaar F R@E 3EN & aX Al T g 36e 91
TIE T FES N FET AT § AW ok IS AP H T T4 g FE IR FH Grem A1 g, ar I
a1 fgms gem?

o [ o]

Options:

o &

2 B

1. = [o O
o ol

o¢lo

2 T

, Ofe 0
2. %

0 <l

2 B

reym|

3. ¢ "




Question Number : 33 Question Id : 140973533 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Count the number of triangles in the given figure.

Options:
1 o 29

? w 28

3. » 31

A » 36

Question Number : 33 Question Id : 140973533 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

& Tt et & Pt #r wear e wi

Options:

1. v 29

2 = 28



Question Number : 34 Question Id : 140973534 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

A and Z are twin sisters. A is married to H and has twin biological sons P and Q. Z is married to X who has a sister W
and nephew Q. What is the nearest relation of X to H?
Options:

1.

Uncle

b4

Brother-in-law

/el

&

Cousifl

3.

&

4 .« Brother

Question Number : 34 Question Id : 140973534 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AR Z A A S AT AR HA IR ITF paafRs wP AR QI Zw REm X &
'g'&n%,ﬁzqﬁrwagﬂwmma | X ¥ H =1 Aeeas = &1 272

Options:

1. = =m=m

2w Helm

3. « T 9gA



4. v Sq'l'é?’ﬂ'lﬁé (Co-brother-in-law)

Question Number : 35 Question Id : 140973535 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

X is the grandfather of Y and the uncle of B’s mother D. How is B related to Y?
Options:

1. = Sister-in-law
? « Cousin
3 % Aunt

4 % Husband

Question Number : 35 Question Id : 140973535 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

X, YT g BHF A T I=rDEIBFY & Fur T8 27

Options:

Question Number : 36 Question Id : 140973536 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25



In a group of 18 boys and 23 girls. the average ages of boys and girls are 14 vears and 11 years, respectively. What is
the average age of the whole group?

Options:

1. « 12.32 years

? w 12.50 years

3 x 10.34 years

4 % 10.28 vears

Question Number : 36 Question Id : 140973536 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

18 geht AT 23 @EfFaT & vw Wag #, o5 3R et @ diwg g Faen 14 39 A 11 av g
QX HE # AEa Hg R 87

Options:

1. ¢ 1232 a§

2 % 1250 I¥

3 % 10.34 I¥

A, % 1028 I¥

Question Number : 37 Question Id : 140973537 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

A man distributed T2,800 among his three daughters X, Y and Z in such a way that one-fifth of X's part, one-sixth of
Y’s part and one-third of Z’s part are equal. What is Y’s part?

Options:



1. = T1.400

2 » T1.000

3 » 1200

<1.500

-
%

Question Number : 37 Question Id : 140973537 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TF e A3 g afeai X, YR ZF w800 wm R sma o & X & e &
T A, Y F REN F oS AT AR Z ¥ e & v EE 9 & swEw g1 Y & R Ghaer 22

Options:

1. % 1,400
2 % 1,000
3 o 1,200
4. = 1,500

Question Number : 38 Question Id : 140973538 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Pick the odd one out.
Options:

1. «» Italy



? % Cairo

3 w Tokyo

Seoul

e
%

Question Number : 38 Question Id : 140973538 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafafee & & fawsw 3=
Options:

1, » T

2. = HIET

Question Number : 39 Question Id : 140973539 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the term that will replace the question mark in the following series.
52, 7,468, 1404, 4212

Options:
1. = 104

? % 264



A » 156

Question Number : 39 Question Id : 140973539 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3T 9E F TIF L AT 4T H T TEA F TS 9 HI0

92, 7, 468, 1404, 4212

Options:
1. & 104
2 % 264
3 & 298
4., » 156

Question Number : 40 Question Id : 140973540 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the term that will come next in the following series.

15, 42, 16, 54, 17, 67, 18,72
Options:
1.« 81



-2
®
-1
\O

(%
&
|
0

Question Number : 40 Question Id : 140973540 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3T UG F TIF FY, FA ATATONDT AT H HTeT e

15, 42, 16, 54, 17, 67, 18, ?

Options:
1. » 81
2 9w 79
3. x 78
4. = 82

General Awarenessl
Group Number : 3
Group Id: 1409738
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20

Isthis Group for Examiner?: No



Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awarenessl

Section Id : 14097323
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section I1d: 14097323
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 140973541 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Which Gupta king is known as ‘Lichchhavi Dauhitra’ in his inscriptions?
Options:
1. » Chandragupta Vikramaditya

? . Samudragupta
3 % Kumaragupta

4. » Skandagupta

Question Number : 41 Question Id : 140973541 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e Toa amme # 3EF R 7 Tesd aifes & am & e Jr g2

Options:

1w SoEd R




Question Number : 42 Question Id : 140973542 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Who led the first Muslim invasion of India?
Options:
1. » Muhammad Bin Qasim

? % Zahir-ud-din Muhammad Babur

Genghis Khan

-
%

Sabuktigin

=
%

Question Number : 42 Question Id : 140973542 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

AR I FUH JEAH 3THAU FHT Aqged [haa fhar 417
Options:

Hgrae o fas

1. v



3 ¢ A T

Question Number : 43 Question Id : 140973543 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which year did Raja Ram Mohan Roy lay the foundation for the Brahmo Samaj?
Options:
1. = 1826

1827

2

#

3.« 1828

2

A % 1830

Question Number : 43 Question Id : 140973543 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

=T TH A T o 927 TAT &r #49 &g av F & 97

Options:

1. %= 1826

2 % 1827

3. » 1828



4. = 1830

Question Number : 44 Question Id : 140973544 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Bhagat Singh and BK Dutt threw a bomb in the Central I egislative Assembly on 8 April, 1929 protesting the

Options:
1. « Public Safety Bill

? # Rowlett Act

3. % Simon Commission

killing of Lala Lajpat Rai

4.

&

Question Number : 44 Question Id : 140973544 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

59T fig 3 & & g9 & 8 ¥ 1929 =+ F By F 7w Bue wer #§ e 55 $er o
Options:

 , TESiEE G Ees

2 w el TFE

3w TIEHAA FHNRA

A« OOl A9 T H g

Question Number : 45 Question Id : 140973545 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25



Name the Union Minister who presented the Budget in February 2019:

Options:
1. » ArunJaitley

? % Prakash Javadekar
3 % Rajnath Singh

4. » Piyush Goyal

Question Number : 45 Question Id : 140973545 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HEL 2019 H §9€ 997 R I FET A FT ATH 95T

Options:

1. = 37907 Scer

2w T FAESHT

3.« U=y AT

4 Iy T

v ot

Question Number : 46 Question Id : 140973546 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

On which date was the state of Chhattisgarh formed?
Options:
1. v 1% November, 2000



7 % st November, 2000

3 % 13" November, 2000

4. « 15 November, 2000

Question Number : 46 Question Id : 140973546 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Soar@de U= &7 7154 &g Y st Gar mar ar
Options:

1. «» 1 F&&T 2000

2 & 8 #gsT 2000

3 % 13 F=&T 2000

A % 15 F=F&T 2000

Question Number : 47 Question Id : 140973547 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Name the first Indian state that was formed on the basis of language after 1947.
Options:
1. » Gujarat

? # Maharashtra



3. % Kerala

4. v Andhra Pradesh

Question Number : 47 Question Id : 140973547 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

3T Uge AT T8 & JTH ga1S0 AT 1947 & g1 9797 & AT 97 §a7 27

Options:

1. & TN
2y WERTE
3. » wA
4. v I T

Question Number : 48 Question Id : 140973548 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which article of the Constitution of India deals with the abolition of untouchability?

Options:

1. = 1

Lh

2\/ 17

18

o
%

19

>
%



Question Number : 48 Question Id : 140973548 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

AT & WU FT Hled W Heq IFFRIAT F 3eHe- § Fafodg g2

Options:

T. » 15
2. v 17
3 = 18
4. = 19

Question Number : 49 Question Id : 140973549 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following political parties is NOT a national party?
Options:
1. » AllIndia Trinamool Congress

2 % Nationalist Congress Party

3 » Communist Party of India

4. » Samajwadi Party

Question Number : 49 Question Id : 140973549 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

=T # 9 #iF o g==fas g T 9rét 78 27

Options:



i » AW ATT JoUTHdA FaH

2y TSgAR HEE e

3 ﬂnﬁmm@'ﬁﬁrmﬁ

4. » THATSIET rel

Question Number : 50 Question Id : 140973550 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the pair that is INCORRECTLY matched with regard to the Constitution of India.
Options:
1. % Article 352: National Emergency

2 w Article 356: State Emergency
3w Article 358: Suspension of provisions of article 19 during emergencies

4. Article 359: Financial Emergency

Question Number : 50 Question Id : 140973550 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3T SIS F T He SR W & dEy F Fena e g

Options:

i = 3eg=oe 352: TS JHTOTc=hTel



5 . H@ﬁﬁ: 356; U= HITTH

5, HFTOE 358 HOIEHS F EN HOE 19 F WU H e

A4 v HI=oe 359: e smardeRTer

Question Number : 51 Question Id : 140973551 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Allocation of seats in the Council of States (Rajva Sabha) is mentioned in the Schedule of the Constitution of
India.
Options:

1. ® Third
9 % Fifth
3. « Fourth

4 % Seventh

Question Number : 51 Question Id : 140973551 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FEIET A6 FTed (T=0 T) H HET & @A ARAT Fiaer= $ g A 3eafla gl
Options:
1. % @y



Question Number : 52 Question Id : 140973552 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

In which of the following cases did the Supreme Court lay down the doctrine of basic structure of the Constitution of
India?

Options:

1. » Indra Sawhney and others vs. Union of India

? « Keswanand Bharti vs, State of Kerala
3. ® KM Nanavati vs. State of Maharashtra

A = Minerva Mills vs. Union of India

Question Number : 52 Question Id : 140973552 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tfafaa § o Fe Awe § w&teg ey F SRdw @Eus & 57 @9 & ey #5 [Ase
T ar?

Options:

1« 3% W 3R 37 A7 #Rd §Y

D o HEHE ARG TAH HA T

3. x HUH AL FAH FERTSE =7



4. « TEEET Ao I8 97T §Y

Question Number : 53 Question Id : 140973553 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which country is set to host the 2020 Summer Olympics?
Options:
1. # USA

? % DBritain
3 v Japan

4 % China

Question Number : 53 Question Id : 140973553 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

IreHFTeT e 2020 Hr AFEAT Hid T T FLET?

Options:

1 »{-}gm-l =T AT

2 x T
3, v S
4, = d=

Question Number : 54 Question Id : 140973554 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Who was the first cricketer to win all 3 major ICC awards (ODI Cricketer, Test Cricketer and Cricketer of the Year) in
January 2019,

Options:
1. % Sachin Tendulkar

2 w Jonny Bairstow

3.« Virat Kohli

A % Rohit Sharma

Question Number : 54 Question Id : 140973554 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2019 & HSEET & Wl 3 THE [EPR (HETS ey, exe Fre 3R e 3% g W) sfewy
gTer Uger ke FiE &7

Options:

‘I_%Pﬁﬁéw

2 % ST ST

3. v [ e

4, » T @A

Question Number : 55 Question Id : 140973555 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Who received the Dronacharya Award, 2018 for Boxing?

Options:



1. « Chenanda Achaiah Kuttappa

Clarence Lobo

b

2

VE. Beedu

-
%

Vijay Sharma

-
%

Question Number : 55 Question Id : 140973555 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Heerarar & T 2018 & Fomary [WEFR fhaa grea BT g2
2w FoRg e
g, & SHGAR
4. = BT oA

Question Number : 56 Question Id : 140973556 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How many gold, silver and bronze medals were won by the Indian contingent at the 2018 Asian Games?
Options:
1. % 10 gold, 23 silver, and 35 bronze



B 15 gold, 24 silver, and 30 bronze

3 % 16gold, 19 silver, and 37 bronze

4. » 9 gold, 27 silver, and 39 bronze

Question Number : 56 Question Id : 140973556 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2018 ¥ TREE Ve # 9T Wanfear & g T90T, &9 AR F1ET 96+ A9 27

Options:

1. « 10 F90Y, 23 T4, 35 HIEA

2 » 15 TN, 24 I&F, 30 FET

3. » 16 T, 19 T4, 37 FEA

4.« 9 TdU, 27 =T, 39 FET

Question Number : 57 Question Id : 140973557 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which Indian plaver won India’s first gold medal at the 2018 Asian Games?
Options:
1. «~» Bajrang Punia

? % Amit Panghal

3 x Arpinder Singh



/% Jinson Johnson

Question Number : 57 Question Id : 140973557 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

g o [@ardr & 2018 & vfaras @ # g & v uger I9uT 9w Sar ar?

Options:

| o TR g

2« AT TET™

3. = e BE

4. « SeEd JAEA

Question Number : 58 Question Id : 140973558 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
‘Beti Bachao, Beti Padhao’, a major comprehensive initiative aimed at improving India’s child sex ratio and ensuring

girls® education, was launched by Prime Minister Narendra Modi in in 2015.
Options:
1. » Jhunjhunu, Rajasthan

? . Panipat, Haryana

3 Varanasi, Uttar Pradesh

/. w Patna Bihar

Question Number : 58 Question Id : 140973558 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

FEr T, 98 TerHT, oA & e oA # gur o= R wsfeat Fr Ren gaited we F s
T, 2015 H, H wue 7 A% AT E@N A% T S T I8 A9 e o

Options:
1_ W ‘J‘a ~ T

2 o 9Eeg, ghEmr

3w SRIOTE, 3eal 9euU

A« Tear, ER

Question Number : 59 Question Id : 140973559 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Rani ki Vav (the Queen’s Stepwell), which is depicted on the new Indian currency notes, is situated in which state?

Options:
1. « Patan. Gujarat

2 Udaipur. Rajasthan

3 Fatehpur Sikri, Uttar Pradesh

4. » Panipat. Haryana

Question Number : 59 Question Id : 140973559 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

T T = (T w1 wTEw), 5 aRdw g ¥ A9 Al W el o g e aew § e

Options:



9IeuT, TERT

gl HRLT, Seal e

w
g}

Question Number : 60 Question Id : 140973560 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following sites was declared as a World Heritage Site by UNESCO in 2018?
Options:
1. # The Architectural Work of Le Corbusier

? % Sun Temple of Konarak

3.« Victorian Gothic and Art Deco Ensembles of Mumbai

4. » The historic city of Ahmedabad

Question Number : 60 Question Id : 140973560 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2018 # FHTer ganr efaf@a & & o wse # fng frmaa wuer ofte fFar s ar?
Options:

5 » o PIYHIT T AT FY




5 PIOTE H FT AR

5 o3 (R9) &1 e ifde 3k o st
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Group Minimum Duration :
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Edit Attended Group? :
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Group Marks:
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Number of Questions;
Number of Questionsto be attempted:

Section Marks:

Sub-Section Number:
Sub-Section 1d:
Question Shuffling Allowed :

4
1409739
0

0

No

No

0

20

No

Yes

0

0

General Awareness?

14097324
1

Online
Mandatory
20
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Question Number : 61 Question Id : 140973561 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which country shares the longest border with India?

Options:



1. ®# China

3. % Bhutan

4. . Bangladesh

Question Number : 61 Question Id : 140973561 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

9T & T 99 o g B e Fr g2

Options:

1. =« I
2w #4grer
3. & W

Question Number : 62 Question Id : 140973562 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following rivers and its sources 1s INCORRECTLY matched?
Options:
1. % Jhelum: Verinag

? % Chenab: Bara Lacha Pass



3 Sutlej: Near Rohtang Pass

4. % Indus: Near Manasarovar Lake

Question Number : 62 Question Id : 140973562 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

f=efRa & @ #iF O 788 3 33 o9 & P g 27

Options:

1« SoE: afEwr
2« e s amEr a
3. » U UgdeT g & 9T

3 foy: AFEUR e & ITE

Question Number : 63 Question Id : 140973563 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Where is the Rihand Valley project located?
Options:
1. & Uttarakhand

? w Sikkim

3. « Uttar Pradesh



4], » Bengal

Question Number : 63 Question Id : 140973563 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Options:

1. % 3cRI@s

2 « EEEF

Question Number : 64 Question Id : 140973564 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
In which state did Prime Minister Narendra Modi inaugurate India’s longest rail-cum-road bridge on 26 December

20187
Options:
1. # Arunachal Pradesh

? % Sikkim

3.« Assam

/], » Bengal

Question Number : 64 Question Id : 140973564 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



ST FAiE AT 7 26 RHaY 2018 &1 FFH US¥ H #Rd & WaW oF Io-dfea-Tsd I H1 3gHe
BT 27

Options:
1. » 3STWUTES o

Question Number : 65 Question Id : 140973565 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following crops is NOT a plantation crop?
Options:
1. # Rubber

? % Coffee

3. # Coconut

4« Sesamum

Question Number : 65 Question Id : 140973565 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TaefRa 7 § #i9 O w59« = 99 &G Jaf 27

Options:




Question Number : 66 Question Id : 140973566 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

is a process of continuously rising prices. or equivalently. of continuously falling value of money.
Options:
1. # Deflation

2 w Currency value

3. % Interest rate

4.« Inflation

Question Number : 66 Question Id : 140973566 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A Fr P A A TeIad, T FAGEAAT HAT H FAGT A AT HAT H AT gl
Options:

1. = HOEhid




- B

3_ % = &1

Question Number : 67 Question Id : 140973567 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Pradhan Mantri Ujjwala Yojana (PMUY) is a scheme under which
Options:
1. « free LPG connections are distributed to BPL families

? # CFL is distributed to BPL families

3w free electricity connection is given

A = free kerosene oil is distributed

Question Number : 67 Question Id : 140973567 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SUTAHST Seegel AT (FUAIEE) UF A= ¢ 8+ ded

Options:

drfiee TERT # JFF Tede Fhere Gaid e S g

1 e

2y e 9RERt #@ deeve Baka e e g



3 el Faee Gar Iar &

A« TF RT3 FaRT R e @

Question Number : 68 Question Id : 140973568 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

The Government of India has allocated an amount of 750 crores for the protection of cows in the 2019 budget. Name
the mission that is the intended beneficiary.

Options:

1. «~ Rashtriya Gokul Mission

? % Jaanvar Samrakshan Goshti

3 Gaay Bachao. Doodh Badhao Mission

4l % Pashu Palan Mission

Question Number : 68 Question Id : 140973568 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

T BN & 2019 & §=c H AT & HW@I0T & forw T750 U= 7 Uy safeq $r g 358 & &
ATH SaET ST 3aTET ot g

Options:

, TS Tgper A

1. v
2 % SIET GIEUT IS

3 & AT ST, g "l AR



X qﬁgmﬂﬂﬁam

Question Number : 69 Question Id : 140973569 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Which statement about National Bank for Agriculture and Rural Development (NABARD) is INCORRECT?
Options:
1. » NABARD came into existence on 12 July, 1982.

? » NABARD was dedicated to the service of the nation by Prime Minister Rajiv Gandhi.
3 x NABARD promotes sustainable and equitable agriculture and rural development.

4. » NABARD is now fully owned by the Government of India.

Question Number : 69 Question Id : 140973569 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T i R g G 3F (@EE) F T F FF T FuT ToT 82

Options:

{  y FTETS TS 12 FA 1982 F T AS o

2 o TE FuE 7 TS ey gaRr aeg B v F v wAf an)

3 . T T HR SR F T 7 G #oaerEr 4o g

2 s ATETS AT U O ¥ $Rd §R & T&MfAc H g

Question Number : 70 Question Id : 140973570 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
The Reserve Bank of India was established on 1 April 1935. Its initial central office was established at

Options:
1. = Nagpur

? # New Delhi

3 x DBombay

4. « Calcutta

Question Number : 70 Question Id : 140973570 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

AT Rerd 3 Fr Fraar 1 % 1935 F g8 ff IR A T FEA FEed F mnfia
T T am)
Options:

1. P Ald9L

=

2. T feeal

Question Number : 71 Question Id : 140973571 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which is the smallest planet of our solar system?

Options:



1. = Neptune

? # Venus

3 Mercury

4 % Pluto

Question Number : 71 Question Id : 140973571 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AN TiTHASS FT @9 TieT 98 FiF T 22

Options:
1, & ARG
¥ ® L o
3, v ¥
4, » T

Question Number : 72 Question Id : 140973572 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How many pairs of chromosomes are present in the human body?
Options:

1. = 22



3. % 21

Question Number : 72 Question Id : 140973572 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT R F e o B #7

Options:

T. & 22
2. v 23
3. x 21
4. = 24

Question Number : 73 Question Id : 140973573 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

The pH of acids is
Options:

1. « lessthan 7

? # more than 7



3 x equalto?

4], % equalto14

Question Number : 73 Question Id : 140973573 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

FET &7 9= (pH) AT 14T 27

Options:

M ol 78 57

2 & 77 HEH

3 x 7% s

4. % 14 F TR

Question Number : 74 Question Id : 140973574 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which communication satellite was launched by ISRO on 6 February 20192 The satellite was successfully launched
from French Guiana. on the Ariane 5 VA-247 launch vehicle.

Options:
1. # GSAT 29

7 % GSAT 30

3« GSAT 31



A, % GSAT28

Question Number : 74 Question Id : 140973574 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

6 T 2019 T sHI (ISRO) ZarT FF T9X 399IE T w&i9ur fFar amar 27 3w (Fearse) i e
T & RIS 5 VA-247 9aifld SR W HhAar as dled T AT ol

Options:

1. = GSAT 29

2 % GSAT 30

3. v GSAT 31

4. » GSAT 28

Question Number : 75 Question Id : 140973575 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who established the Atomic Energy Establishment at Trombay (renamed as BARC) in January, 1954 for a multi-
disciplinary research program essential for the ambitious nuclear program of India?
Options:

1. «~ Homi Jehangir Bhabha

? # JRD Tata

3. % GDBirla

4. % MS Swaminathan



Question Number : 75 Question Id : 140973575 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR & HECATHIET TIATT] FTUFHH #ﬁvmwagﬁwmma:ﬁvaﬂaﬁ 1954 H
aﬁ(waﬁ:@mqwmﬁmwmﬁwaﬁﬁmﬁmmﬁw

Options:

1. » B SEETR e

2 % HAHET TTET

Question Number : 76 Question Id : 140973576 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

In 1975, which country helped India launch her first ever satellite ‘ Aryabhatta®?
Options:
1. = USA

? « USSR

4. % France

Question Number : 76 Question Id : 140973576 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

1975 A, 5T 2o & 9NT & 39T UgaT 3IUIE 'HANT died : § Heg v of?

Options:




1 x {igq-d =T FAET

5 o TEETEAR (Wfewd wm)

4. = BT

Question Number : 77 Question Id : 140973577 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

On 30 January 2019, former Chairman of ISRO, Dr. K Kasturirangan inaugurated the Human Space Flight Centre
(HSFC) at . HSFC will be responsible for the implementation of the *Gaganyaan’ project.

Options:

1. » Vikram Sarabhai Space Centre, Kerala

Satish Dhawan Space Centre. Sriharikota

-2
#®

3 » National Remote Sensing Centre, Hyderabad

4. » Indian Space Research Organisation, Bengaluru

Question Number : 77 Question Id : 140973577 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

30 Sieadr 2019 #, FWA (ISRO) & qF eqeT 7. F. FEIT o H AT AR 35 &5
(HSFC) = 3cumes & ¥ TaTausdr TReae 9@ & HEwaaa & o7 Scaledr gem

Options:

1« %A anes et &g, e



2« T YIF HANE Hg, MERFEr

9« e e d@ffe @, dewee

B e ARATT HANET HFHU HITSH, AT

Question Number : 78 Question Id : 140973578 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements about the United Nations (UN) organisation is NOT true?
Options:
1. = It was founded on 24 October 19435,

2w Itis currently made up of 193 member states.
3 u The UN’s Chief Administrative Officer is its Secretary General.

4. » BanKi-moon is current Secretary General of UN.

Question Number : 78 Question Id : 140973578 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HgFT T (UN) T8 & o) & eafaf@a & @ #i7 o #va o8 a8 7
Options:

1 = SHHT FUTIAT 24 HFgaT 1945 aﬁrg?am

2« FOAW H 193 I THS TEET g



3 Hed TE & {ET TUElAe HfeR Agra=e gl

, : .
4 o = H HF TgFd T &F JaA AGE=T g

Question Number : 79 Question Id : 140973579 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following countries is NOT a permanent member of the UN Security Council?
Options:

1. % France

7 o Germany

3. ® China

Question Number : 79 Question Id : 140973579 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e & & #ia @1 2o ggFa ¢ Fr gear IRwg F T veET 76 82

Options:

1. « B

2. v SHA



Question Number : 80 Question Id : 140973580 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

When did the World Health Organization (WHO) come into existence?
Options:
1. » 7 April 1945

9 & 7 April 1946
3w 7 April 1947

4 o 7 April 1948

Question Number : 80 Question Id : 140973580 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o7 TaTEeT TeTea (Seeguas) @ TUTOAT FH Fr I o2

Options:

1. = 7 31 1945
2 w7 39T 1946
3w 7 3% 1947

4. o 7 39T 1948



Arithmetic Abilityl

Group Number : 5
Group Id: 14097310
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Arithmetic Ability1

Section Id : 14097325
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 14097325
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 140973581 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If the numbers in the given series are arranged in a descending order. which number will be in the middle?

7y/3. 449, 842.3y13. 56

Options:
1. + 4+/9

2. % 7V3

82

%

3.



4, = 5V6

Question Number : 81 Question Id : 140973581 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

I & I YW H FEIHT F TF HRE FH H iegd AT 1T g, O ST @ gE 7ey 7 @

7/3.44/9. 82 .3/13.5V/6

Options:

1. v 49

g, & 3

3. % 8V2

4. « 5V

Question Number : 82 Question Id : 140973582 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

A non-zero integer *X’ is said to divide an integer vy’ if there exists an integer *z’ such that
Options:

1. & Y=xz
? % X=Yyz

3 x Z=Xxy

X

4 w ¥

S o



Question Number : 82 Question Id : 140973582 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

TS T qUIH K F TF YT Uity FH A= Feniera G s wear g, 99 e oie 2 3w

YR HiSE & & |
Options:
1; o =0
2. % X=yz
3_ % Z =Xy
X Y
4, w7 #

Question Number : 83 Question Id : 140973583 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
When the digits of a two-digit number are interchanged, the number thus obtained is 18 less than the original number. If

the sum of the two digits is 12, find the original number,

Options:

1.« 75

? #% 93

(%
2"‘;
o0
Lh

Question Number : 83 Question Id : 140973583 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T G 3R T TH FEAT & e H WER F6 [GIT AT ¢, d $H WHR 9o FEIT Ho dCd § 18
FH @ ¥ I At e = A 12 §, O 77w 7 Hifew

Options:

1. » 75
2. % 93
3. = 85
4. = 48

Question Number : 84 Question Id : 140973584 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the sum of the natural numbers from 21 to 30.
Options:

1. ¢

[
LA
LA

b2
#
I
1
=

N
%
[
-2
~J

Question Number : 84 Question Id : 140973584 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

21 & 30 A% Uhider FEITHT H T AT HITAT

Options:



1. « 255

2 » 270
3 & 212
4. = 227

Question Number : 85 Question Id : 140973585 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Simplify the following equation by applving the BODMAS rule.

00 x (1+3) = [1 {2+ 2) +5)x2s = (2+1)] =

Options:
1.« 2

2 = 11

Question Number : 85 Question Id : 140973585 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

srEA fATE o] = Al T # T A

80 X (l+%) 5 [?' {(2%—%) +5}><;25 = (%—Fl)]:?

Options:



Question Number : 86 Question Id : 140973586 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
A man was carrying 8 currency notes each of the following denominations: <100, ¥10, 3200, T50 and T20. If he

purchased an article and gave one currency note of each denomination EXCEPT 10. find the amount left with him.
Options:
1 v 32,670

2 » 32,760

3w 32,840

Question Number : 86 Question Id : 140973586 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

U 3{1GH! & YN 2100, 310, T200, T50 3R 320 & Udds Hedd'| & 8 Hal Al ¥ afg 39 U axg Tlel 3R
310 Geual & HIe &l BIgHR Ueich Heddi| ol Ueh HaHIc e, 1l S8 Urd sl g3 AR H1d S|

Options:

1 » 2,670




2w 32,760

3« 2,840

A » 2220

Question Number : 87 Question Id : 140973587 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the best option that solves the equation.

ala x 313 +-28¥ X 287 =7
Options:

1. v 180338
2 % 180383
3 % 183308

A, % 183038

Question Number : 87 Question Id : 140973587 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

IF FEH <o Aed Ia S FHISUT T g HLT g

313 X 313 4+ 287 x 287 =?
Options:

1. «» 180338



2 % 180383

3. » 183308

4. = 183038

Question Number : 88 Question Id : 140973588 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the value of *?” in the following equation.

- 87467 + 194252-98343 -7 =- 1372.78
Options:

1. ¢ 1457.20

7 % 1336.19

3. % 2829.98

A % 1544.20

Question Number : 88 Question Id : 140973588 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

AT la THRIOT H 2 ‘& Al A ST

~ 874.67 + 1942.52- 98343-7 =- 1372.78
Options:

1. «» 1457.20



2 % 1356.19

3. » 2829.98

4. % 1544.20

Question Number : 89 Question Id : 140973589 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

| B3

andi.

The value of falls in between - =

i

Options:

1. v

1 |

11

|

“1 | b3

Question Number : 89 Question Id : 140973589 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

F AW - AR F AT

Options:
*
1. ¢ 7



11
13

N
g:‘

9| =

Question Number : 90 Question Id : 140973590 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Consider the following equation and select the value of x :

(2340) . (46.8)
0117/ \ x
Options:

1. + 0.00234

Question Number : 90 Question Id : 140973590 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafafeT w#er @ BER &t 3K x #7179 T3

(2340) . (46.9)
0.117 X

Options:




1. « 0.00234

2 » 0234
3. = 0.0234
4. » 2.34

Question Number : 91 Question Id : 140973591 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
The prices of P and Q increase by 75 paise and 25 paise every month respectively. The present price of P is ¥65.50 and

that of Q is T68.50. In how many months from now will the price of Q be equal to that of P?
Options:

1. + 6 months

? % 8 months

3. # 9months

4 % 7 months

Question Number : 91 Question Id : 140973591 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

P 3R Q & #AdT & Scde Ag FAW: 75 47 AR 25 IF #r 3w @ &1 P F TIA Heg 6550 §
3R Q & 777 I68.50 81 37T ¥ et Al a6 Q F Ao P F WAL g A

Options:

1. v 67®



Question Number : 92 Question Id : 140973592 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the best option that solves the equation.
2 2 2 2
)+ @) - @) - @) -
0.1 10 1.1 11
Options:

1. v 22220

2 % 22221

Question Number : 92 Question Id : 140973592 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I¢ TIY 3TOT Reed T A HHEUT F g HAT

B+ & G -8~

Options:




1. ¢ 22220

5. & 28221
3 & 12220
4. = 121

Question Number : 93 Question Id : 140973593 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Find the difference between two numbers which are in the ratio 3 : 1 and whose LCM and HCF are 96 and 32

respectively.

Options:
1.« 64

!.[L
8
Lh
S0

Question Number : 93 Question Id : 140973593 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ar HEarst & @ e 9 FY o a1 3 3 0 1§ A e 9.3 il 3w w96 A 32
2l
Options:

1. v 64



Question Number : 94 Question Id : 140973594 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the LCM Dfi.; and E ?
10 5 &

Options:
1. « 140

A % 160

Question Number : 94 Question Id : 140973594 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

1,134%2 FT . T AT Haw)



3. = 120

4. » 160

Question Number : 95 Question Id : 140973595 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the largest number that will divide 452, 573 and 701 leaving remainders of 11, 6 and 8 respectively.
Options:
1.« 63

2
5
o
-

84

e
%

Question Number : 95 Question Id : 140973595 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IE 98 ¥ 95 TEIT AT Siferw SEd 452, 573 9T 701 ¢ Roieg S 9W 9W HH 11, 6 3T 8
T B

Options:
1. v 63
2. % 97



Question Number : 96 Question Id : 140973596 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If the length, breadth and height of a room are 8% m, 9% m and ?3 m respectively. find the longest rod that can exactly

measure the three dimensions.
Options:

= m
1.+~

B |

1F"I"'l
2. w2

ol
®
|

3

Ui | s

Question Number : 96 Question Id : 140973596 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o el Fo & FE, Stes ok S wEen 8 Aem, 9F dex AR 7. At A 3w w o
B F 3¢ AT JAT JAAT # EF T AT FF

Options:

Em
1. »

L
8

w | w
=



ul | e

e
g:‘

Question Number : 97 Question Id : 140973597 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

‘What is the least number which leaves 7 as the remainder in each case when divided by 8. 14, 12, 10?
Options:
1. « 847

Question Number : 97 Question Id : 140973597 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FEOST TIT TE T T g 5 8, 14, 12, 10 ¥ unfog = W 93+ AF # 9¥ 7 g=47 87

Options:

1. « 847
D w722
3 & 614
A % 935

Question Number : 98 Question Id : 140973598 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find the mean proportional of 0.81 and 0.09.
Options:
1. » 0.27

2 % 0.36
3 % 045

A = 054

Question Number : 98 Question Id : 140973598 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

0.81 3R 0.09 & FeARH 71d FfFTI

Options:
1. ¢ 027
2 = 0.38
8 & 0us
A = 054

Question Number : 99 Question Id : 140973599 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

If the breadth and perimeter of a rectangle measuring an area of 147 m? are in the ratio 1 : 8, then find the length of the
rectangle.

Options:
1.« 21m



23 m

i
%

14m

e
%

Question Number : 99 Question Id : 140973599 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fr 147 #° & &% F1 AT T HEF F AR IR IRAT FoHFIF 1 8 F, A 3T F wEw
FATd HIT=T)

Options:

1. ¢ 21 m
2. = T
3 % 28 m
4. = 14 m

Question Number : 100 Question Id : 140973600 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The sum of the cubes of three numbers, which are in the ratio 3 : 2 : 4, is 12375, Find the sum of the three numbers.

Options:
1. o 45

2 30

&



(%
2"‘;
I
Lh

t.[:.
®
Lad
LA

Question Number : 100 Question Id : 140973600 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT WEAT, ST 3 2 1 4 F AT H g, F U @ AT 12375 gl I Tt # a6 7 Hiew

Options:

1. v 45
2 = 30
3. x 25
4 = 35

Arithmetic Ability2
Group Number : 6
Group Id: 14097311
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group?: No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Arithmetic Ability2



Section Id : 14097326

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 14097326
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 140973601 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
A sum of money is to be divided among Q. R, S and T in the ratio 9 : 3 : 11 : 2. If the difference between the values of

the combined shares of Q and S. and that of R and T is ¥6.150, find the value of the combined share of $ and R.
Options:
1 o ?5,?40

2 « T4,510

3 x 8200

4. = 32,050

Question Number : 101 Question Id : 140973601 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TE G QR SHATF T 9: 3 : 11 : 2 % gud # o fvar sew 31 afF Q 3k S
% TGET AW H A U R HR T & FYgFT A0 F @7 oW 36,150 &, @ S R R F wgE #Awr
F AH AT FAT

Options:

1 » 35,740

2« 4,510



3 x 38200

4.« 2,050

Question Number : 102 Question Id : 140973602 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Seven years ago, the ratio of the ages of K and L was 7 : 3. Three vears hence, the ratio of their ages will be 9 : 5. What

is K's present age?

Options:
1. v 42

? % 45

3. s 22

4 wx 25

Question Number : 102 Question Id : 140973602 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT a9 Tger K 3K L &7 377 &7 39 7 : 3 oT| 3 § AT 99 9GS0 A H Fgd 9 5 g
STRET| K & gaA= g e 82

Options:
1. ¢ 42
2. = 45

3. x 22



Question Number : 103 Question Id : 140973603 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
In a class of 36 students, when a new student replaced an outgoing student whose age was 16 years, the average age of

the class increased by one month. Find the age of the new student.
Options:
1. « 19 years

7 % 18 years

3w 17 years

4. » 21years

Question Number : 103 Question Id : 140973603 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

36 STET $T T FeT H, FF TF AT B gL A I T ST, [oF@dr 35 16 Iy off, & vasaig
FIAT &, A HET & T g F v A F 3 @ e ¥ T o & 3y AT w

Options:

1. v 19 a9
2 % 18 ayw
3 % 17 ay

4. = 21398



Question Number : 104 Question Id : 140973604 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a committee of 12 members, the weight of the secretary is gth of the weight of the chairman, whose weight is 56 kg.
The average weight of the remaining members is 2 kg less than that of all the committee members. Find the average
weight of all the 12 members.

Options:

1. « 42kg

Question Number : 104 Question 1d : 140973604 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

12Wﬁwﬁ%ﬁﬁaﬂmmw,ﬁmﬂmssm%,a:ma:rg%, Ty
TEEar & Aud a9 WAt F weft werd F goen & 2 e w7 g w12 wesr @ oded
T AT Ffew)

Options:
1. v 42 TFarErs
2 % 45 fFeemH
3« 52 fFeEmH
4« 48 TreEmH

Question Number : 105 Question Id : 140973605 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The average of six consecutive odd numbers is 26. Find the product of the third and fourth numbers.
Options:
1. « 675

Question Number : 105 Question 1d : 140973605 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

OF FAFE [AwH HEanaHt # 3iEa 26 g1 Al R S e # queee @w fifew

Options:

1. v 675
2w 765
3. % 567
4. % 756

Question Number : 106 Question Id : 140973606 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Ram’s family consists of his wife, both of his parents and parents-in-law, 3 sons and 3 daughters. The average age of the

grandparents of the family is 65 years and the average age of Ram and his wife is 44 years. The average ages of the
grandsons and granddaughters are 24 years and 20 years respectively. Find the average age of the family.

Options:



Question Number : 106 Question Id : 140973606 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TH F IRER F 3HH Teal, 3SHF A-oar A TE TH, 3 §F AT 3 g afFe € 9REw F e
grér #r Hted g 65 I § AR TH T IHEr T #r tEa 3y 44 ¥ ¢ O Ak feat Frosdtea
g FA: 24 ¥ AT 20 T¥ §1 oRER Fr g g = A

Options:

1. v 40
2 = 45
3 = 42
4 = 38

Question Number : 107 Question Id : 140973607 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The loss on selling a product at 25% less than the cost price was I3.200. Find the selling price.
Options:
1. ¢ $9.600



2 » T8.700

3 % 10,100

4. = 39.300

Question Number : 107 Question Id : 140973607 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TE TG F IHF BT AeT ¥ 25% FH Hed W aTS & 33,200 Fr @il @ 71 o Aww Aw e

Options:

1~ 39,600
2 % 78,700
3 % 10,100
4 = 79,300

Question Number : 108 Question 1d : 140973608 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
An article costing I3.000 was sold by mistake at a loss of 10% and the buyer sold it back to the owner at a profit of

10%. Find the net loss to the owner.
Options:

1. ¢ 3570

2

2 % 3300



Question Number : 108 Question Id : 140973608 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

33,000 #r FAETA A TH aEG H e @ 10% g 9 A G aw Ak wlEn F sW 10% & @
W FHS Alferss HI a9 I T Afes 1 3 Tl o= e Ja HiEw

Options:
1. ¢ 370
5 » 2300
3 & 270
4 x T30

Question Number : 109 Question Id : 140973609 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Selling an article at 3,400 results in a loss of 15%. How much should be added to the cost price to get a gain of 18%?
Options:
1 4 <720

i

2 = T600

3 % 550



A % %790

Question Number : 109 Question Id : 140973609 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teh TEG F 3,400 H F9A T 15% HI g AT E1 18% T o Wred A & v FT Hew # e
Hed ST ST =fge?

Options:
1. » T720
2. % 600
3. = 550
4. = 790

Question Number : 110 Question Id : 140973610 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A shopkeeper purchased 8 dozens each of pens and pen-stands at a cost of 2,304 and 34,224 respectively. He sold each

pen with a pen-stand as a set at T85 per set. What was his profit percentage per set?
Options:

1.« 25%

? % 24%

3. % 27%

4 % 26%



Question Number : 110 Question Id : 140973610 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UF gFACR 7 8 T3 U7 N U TeT FA: 32,304 AR 4,224 f ¢ ¥ T 3WA TAF OF
UA-FEs % W 385 9fd We & ffEE ¥ 99 9ASF W W 3T @ FTer o qfaea & o

Options:

1. ¢ 25%
2 % 24%
3. % 27%
4. % 26%

Question Number : 111 Question 1d : 140973611 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In how many years will the amount of interest at 6 % p.a. simple interest become 42 % of the principal amount?
Options:

1. » 7 years

2 % 6 years

3 % 8 years

4. w 4years

Question Number : 111 Question 1d : 140973611 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forast ast & = &7 TR FIROT s B 6% AMMF &I A HAUA 1 42% & FA?

Options:



Question Number : 112 Question Id : 140973612 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
If the maturity values of an amount in 7 and 9 years calculated at 5 % p.a. simple interest are 2,975 and ¥3.825

respectively, find the amount.
Options:
1 o <8.500

2 » 8,100

3w 38,800

4. = T7.900

Question Number : 112 Question Id : 140973612 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I T AT U7 HURUT =01 &7 5% J1i%e 2T & 7 3K 9 av &r 353 7 g g arer algsadr
TfeYr waer 32,975 3T 23,825 &, A gavuf¥r =g fifav

Options:

1~ 8500



2 x 38,100

3« 28,800

4 x %7,900

Question Number : 113 Question 1d : 140973613 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If the interest amount payable to a money lender at the end of 3 years on a loan amount at 25 % p.a. compounded

annmually is €12.200, find the loan amount.
Options:
1. « T12.800

2w T14.600

3w 320400

4. = 18,000

Question Number : 113 Question Id : 140973613 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I v HUTGTAT H HOT AT W 3 a9 & 3d § Tohgie a0 o 25% & & & &= qrer ¥12,200 §,
" =oT e A7 ffET)

Options:

1. » 12,800

2 % T14,600



3 & 320,400

4. « 18,000

Question Number : 114 Question Id : 140973614 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the difference between the amounts of simple and compound interest on 5,000 at 10 p.a. for 3 years.
Options:
1. « <155

Question Number : 114 Question 1d : 140973614 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

¥5,000 W 3 3 & fOT 10% T1fs &7 | 9F & el TR =0 HR I%gie a1 #r it &
HR AT FH

Options:
1. «+ T155
2 = %205

3. % T185



4. » %135

Question Number : 115 Question Id : 140973615 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
If a circular road of width 7 m surrounds a circular ground of diameter 28 m, the area of the road will be more

than the area of the ground. (n = % )

Options:

1.« 25%

? w% 24%

3. 8 26%

4 % 23%

Question Number : 115 Question Id : 140973615 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g 7 #ex 91 % goawR TES 28 HieT U I F UH godieR Held # A g, O 5% @

S e N F AT o 31T g (n=§)
Options:

1. ¢ 25%

2 % 24%

3.« 26%



4. % 23%

Question Number : 116 Question Id : 140973616 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
The length and diagonal of a rectangular area are 12 m and 15 m respectively. If the cost of tiling the area is 135 per

m?. find the cost of tiling.
Options:
1 4 <14.580

9 » T15.480

3 x 14850

4. = T15.508

Question Number : 116 Question Id : 140973616 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TF HOAEHR &7 H FEE #R FEr FEww 12 #@ex #k 15 dex §) IF @ AT F e wem #r
AT T135 9fa F°7 HieT &, a7 = oA S e g @ AT Hiiew)

Options:

1 » 14,580

2« 315480

3 % 14,850

4 x %15508



Question Number : 117 Question Id : 140973617 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the area of a circular ground. if its diameter measures 30 m less than its circumference. (T = i—g )

Options:

1. v 154 m?
? % 166 m°

3 % 144 m?

bb

#®

—

-1

[ ]

B
[

Question Number : 117 Question Id : 140973617 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TS JeATER HeTe F ATHA AT F, T FHA A 5 IR F 30 Aex A g (n=2)

Options: '
1. ¢ 154 m?
2 % 166 m?
3 % 144 m?
4. x 172 m?

Question Number : 118 Question Id : 140973618 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The areas of a square and a rectangle are the same. If the area of the square and breadth of the rectangle are 676 m? and
13 m respectively, find the ratio of the perimeter of rectangle to that of the square.

Options:



Question Number : 118 Question Id : 140973618 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UF T AR U MO F ST6T A g1 T a9 F SFh AN HTg Fr 9iwE FHer 676 72 3w 13
A &, & 3T F TRAT F T F IRAT F 3T AT ST

Options:

1. ¢ 5: 4
2w 4:8
3. = 3:4
4 = 4:3

Question Number : 119 Question 1d : 140973619 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
If a car takes 70 min to cover 105 km, how much time will it take to cover 125 km, if its speed is reduced by 15 km/h?

Options:
1. ¢ 100 min



? % 95min

3. % 105 min

4 % 90 min

Question Number : 119 Question Id : 140973619 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ofg o FR 1 105 Bl F g 7w = F 70 e wew €, ar 125 Gl fr g 97 = F T
AT e, afe sHdr afa 15 frdvEer A g S 87

Options:
1. v 100 fa=e
D« 95 @Aae
3. = 105 f&=e
4. = 90 A=

Question Number : 120 Question Id : 140973620 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
The speed of a boat running downstream is 21 km/h and the speed of the stream is 3 km/h. What distance will the boat

cover against the stream in 2 hours?
Options:

1. «+ 30km



Question Number : 120 Question Id : 140973620 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

O # AeJEe T H UF A9 & A 21 e § ek arr f amer 3 GFvEer @1 oo #r gfage
e & 2 e & = fhaar g 9w FE?

Options:
1. v 30 fa
2 % 28 &
3 % 32 A
4 = 26 TH
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Question Number : 121 Question Id : 140973621 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following options means the same as the highlighted phrase below?

I admire Arun for his down to earth personality.
Options:

1. + Realistic

? # Adorable

3 & Sophisticated

Backward

4,

i

Question Number : 121 Question Id : 140973621 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following options means the same as the highlighted phrase below?

I admire Arun for his down to earth personality.
Options:

1. « Realistic



? % Adorable

3. % Sophisticated

4. = Backward

Question Number : 122 Question 1d : 140973622 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following options means the same as the highlighted phrase below?

The new project was a piece of cake for the team.
Options:
1. » The project was to bake a cake

2 . They found the project simple to accomplish

3 » They had to eat several slices of a cake

4. % They had to divide their cake into pieces

Question Number : 122 Question 1d : 140973622 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following options means the same as the highlighted phrase below?

The new project was a piece of cake for the team.
Options:
1. & The project was to bake a cake



2 . They found the project simple to accomplish

3. % They had to eat several slices of a cake

/. % They had to divide their cake into pieces

Question Number : 123 Question 1d : 140973623 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the given word.

HEGEMONY
Options:

1. «+ Domination

? # Garden

3 x Money

A % Admiration

Question Number : 123 Question Id : 140973623 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the given word.

HEGEMONY
Options:

1. « Domination



7 % Garden

3. = Money

4. % Admiration

Question Number : 124 Question 1d : 140973624 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the given word.

ESTABLISH
Options:

1. # Build

? % Demonstrate

3 Disprove

4 = Bum

Question Number : 124 Question Id : 140973624 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the given word.

ESTABLISH
Options:

1. % Build



7 % Demonstrate

3.  Disprove

4. % Bum

Question Number : 125 Question 1d : 140973625 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the given word.

SPECTACULAR
Options:
1. = Huge

2 % Magnificent

3. v Dull

4] « Fiery

Question Number : 125 Question Id : 140973625 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the given word.

SPECTACULAR
Options:

1. = Huge



2 % Magnificent

3. ¢ Dull

4. = Fiery

Question Number : 126 Question 1d : 140973626 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the given word.

STRANGE
Options:

1. « Surreal

? % Usual

3. # Normal

4 % Familiar

Question Number : 126 Question Id : 140973626 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the given word.

STRANGE
Options:

1. « Surreal



2. = Usnal

3. % Normal

4. % Familiar

Question Number : 127 Question 1d : 140973627 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate option.
Malini is woman I am proud to have as friend.

Options:
1. % this.an

2. % the any

3, % am

4 v 22

Question Number : 127 Question 1d : 140973627 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate option.

Malini is woman I am proud to have as friend.
Options:

1. = this, an



4. v 2.2

Question Number : 128 Question 1d : 140973628 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate option.

of these women committed heinous crime?

Options:
1. » Who, the

?  Which, this

2w The. our

4 % Who. an

Question Number : 128 Question 1d : 140973628 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate option.

of these women committed heinous crime?
Options:
1. = Who. the



?  Which, this

3 % The. our

4. = Who. an

Question Number : 129 Question 1d : 140973629 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.
We have no one to blame but for the mess our country is in.

Options:
1. = theirs

? « ourselves

3. # themselves

A % himself

Question Number : 129 Question 1d : 140973629 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

We have no one to blame but for the mess our country is in.

Options:
1. = theirs



7« ourselves

3. % themselves

4. = himself

Question Number : 130 Question Id : 140973630 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate option.

can leave the room until say s0.
Options:
1. «» Nobody.I

2 w He, they

2w Themselves. her

4. » Myself her

Question Number : 130 Question Id : 140973630 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate option.

can leave the room until say SO.
Options:
1. « Nobody,I



2 % He they

3. « Themselves, her

4. = Myself her

Question Number : 131 Question 1d : 140973631 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

The recently announced Pradhan Mantri Kisan Samman Nidhi (PM-KISAN)inthe  Budget 2019 was well
predicted by many political analysts and economists alike.

Options:

1. 2 New

? % Half-time

3. « Interim

4 % Unfinished

Question Number : 131 Question Id : 140973631 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

The recently announced Pradhan Mantri Kisan Samman Nidhi (PM-KISAN) in the Budget 2019 was well
predicted by many political analysts and economists alike.

Options:

1. & New



7 % Half-time

3.« Interim

4. = Unfinished

Question Number : 132 Question 1d : 140973632 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

I do not know the entire story about the scam. but am willing to give him the of doubt for the time being
Options:
1. & lead

? « benefit

3. % belief

A = side

Question Number : 132 Question Id : 140973632 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

I do not know the entire story about the scam. but am willing to give him the of doubt for the time being

Options:

1. = lead



7 benefit

3. Dbelief

4. = side

Question Number : 133 Question 1d : 140973633 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The sentences of a paragraph are given below. While the first and the last sentences (S1 and S6) are in correct order, the

sentences in between are jumbled up. Arrange the sentences in the right order to form a meaningful and coherent

paragraph.

S1. When Suni's latest film, ‘Bazaar’. released last week, people started receiving the film on messaging apps.

P. The team approached the ¢yber-crime cops, but when no headway was made there, they roped in experts in
Hyderabad to tackle the issue.

Q. Sent as a forward, it didn't require links to any web pages, as the pirated copy could be downloaded directly

onto one's mobile phone.

R. The team succeeded in installing a special anti-piracy software which freezes the app and hangs the phone of
any illegal user.

S. In just a day. Suni says that the pirated copy received over one lakh views.
S6. Suni’s advice to other filmmakers is to take measures, such as getting experts in for anti-piracy programmes,

as soon as they get wind of their film being pirated.

Options:
1. v S:QEBR

2' b R‘S-QP

3. b RQ-RS



4 % QS,RP

Question Number : 133 Question Id : 140973633 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The sentences of a paragraph are given below. While the first and the last sentences (S1 and S6) are in correct order, the

sentences in between are jumbled up. Arrange the sentences in the right order to form a meaningful and coherent
paragraph.

S1. When Suni's latest film, ‘Bazaar’. released last week, people started receiving the film on messaging apps.

P. The team approached the cyber-crime cops, but when no headway was made there, they roped in experts in
Hyderabad to tackle the issue.

Q. Sent as a forward, it didn't require links to any web pages, as the pirated copy could be downloaded directly

onto one's mobile phone.

R. The team succeeded in installing a special anti-piracy software which freezes the app and hangs the phone of
any illegal user.

S. In just a day. Suni says that the pirated copy received over one lakh views.
S6. Suni’s advice to other filmmakers is to take measures, such as getting experts in for anti-piracy programmes,

as soon as they get wind of their film being pirated.

Options:
1. ¢ S$Q.EBR

2_ # R*S-Q=P

3 » BQRS

4_ & Q'S-R-P

Question Number : 134 Question Id : 140973634 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The sentences of a paragraph are given below. While the first and the last sentences (S1 and S6) are in correct order, the

sentences in between are jumbled up. Arrange the sentences in the right order to form a meaningful and coherent

paragraph.

S1. Andhra Pradesh Chief Minister Chandrababu Naidu on Tuesday made a prophecy that the Trinamool Congress will
win all the 42 Tok Sabha seats in West Bengal in the parliamentary election later this vear, as a reaction to the action
taken by the Centre “to create disturbances™ in the state.

P. “How to weaken her, they are watching...not only her, but all opposition parties,” he said.

Q. Naidu described his West Bengal counterpart as the “architect” of the federal front against the BIP-led NDA. “She is
the architect of the federal front. She is the main pillar of the opposition,” Naidu said.

R. “Mamata Banerjee is very good at tackling not only political issues but also development issues.”
S. He said, “Democracy is in danger today...It is worse than Emergency.”

S6. Naidu further said that he visited Banerjee “on behalf of all 23 parties™, a reference to an apparent coalition of
regional parties that are opposing the BJP. He said, “We will fight together. We are united, all 23 parties. We will discuss
and take a decision together.”

Options:

9 o Q,8,BR

3 ® RS~RQ

4 v SSQRP

Question Number : 134 Question Id : 140973634 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The sentences of a paragraph are given below. While the first and the last sentences (S1 and S6) are in correct order, the

sentences in between are jumbled up. Arrange the sentences in the right order to form a meaningful and coherent

paragraph.

S1. Andhra Pradesh Chief Minister, Chandrababu Naidu, made a prophecy on Tuesday that the Trinamool Congress will
win all the 42 Tok Sabha seats in West Bengal in the parliamentary election later this vear, as a reaction to the action
taken by the Centre “to create disturbances™ in the state.

P. “How to weaken her, they are watching...not only her, but all opposition parties,” he said.

Q. Naidu described his West Bengal counterpart as the “architect” of the federal front against the BIP-led NDA. “She is
the architect of the federal front. She is the main pillar of the opposition,” Naidu said.

R. “Mamata Banerjee is very good at tackling not only political issues but also development issues.”
S. He said, “Democracy is in danger today...It is worse than Emergency.”

S6. Naidu further said that he visited Banerjee “on behalf of all 23 parties™, a reference to an apparent coalition of
regional parties that are opposing the BJP. He said, “We will fight together. We are united, all 23 parties. We will discuss
and take a decision together.”

Options:
1. o BRBSO

2 x QSBR

3_ ® RS~RQ

Question Number : 135 Question Id : 140973635 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the given word.

ELIXIR
Options:



1. & Circle

? « Potion

3 » Pudding

A % Secret

Question Number : 135 Question Id : 140973635 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the given word.
FLIXIR

Options:

1. = Circle

7. « Potion

3. « Pudding

4. w Secret

Question Number : 136 Question Id : 140973636 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the given word.

MIRACLE
Options:



1. = Fantastic

2 . Expectation

3. # Accident

4. » Absurdity

Question Number : 136 Question Id : 140973636 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the given word.
MIFACLE

Options:

1. % Fantastic

2 » Expectation

3. % Accident

4.« Absurdity

Question Number : 137 Question Id : 140973637 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

The customs Manipur are quaint and esoteric.

Options:



1. = to

? w for

3“\; of

4 % on

Question Number : 137 Question Id : 140973637 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

The customs Manipur are quaint and esoteric.
Options:

T. = o

2. = for

3. ¢ of

4 % on

Question Number : 138 Question Id : 140973638 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that uses the correct singular form of the word.
Options:

1. ®« Women



? % Children

3. % Men

4. « Her

Question Number : 138 Question Id : 140973638 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that usesthe correct singular form of the word.

Options:

1. % Women

7w Children

3. % Men

4. «» Her

Question Number : 139 Question Id : 140973639 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that uses the correct plural form of the word.
Options:

1. & Frame

? % Window

3. « Porches



4. % Lintel

Question Number : 139 Question Id : 140973639 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that gives the correct plural form of the word.
Options:

1. %« Frame

2 x  Window

3. « Porches

4. = Lintel

Question Number : 140 Question Id : 140973640 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct sentence from the given options.
Options:
1. « The patient could not bear the pain in her chest anymore.

? w The patient could not bearing the pain in her chest anymore.

3 The patient could not bore the pain in her chest any more.

The patient could not bears pain in her chest anymore.

4,

i

Question Number : 140 Question Id : 140973640 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the grammatically correct sentence from the given options.

Options:

1. « The patient could not bear the pain in her chest anymore.

2 % The patient could not bearing the pain in her chest anymore.

3.« The patient could not bore the pain in her chest any more.

/. % The patient could not bears pain in her chest anymore.
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Sub-Section Id: 14097328
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 140973641 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct sentence from the given options.
Options:

1. # Ihave never feel as vulnerable as I do now.

? « 1have never felt as vulnerable as I do now.

3. # Ihas never feel as vulnerable as I do now.

4 % 1have never felt as vulnerable as I does now.

Question Number : 141 Question Id : 140973641 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct sentence from the given options.

Options:

1. % Ihave never feel as vulnerable as I do now.

7« Ihave never felt as vulnerable as I do now.

3. % Ihas never feel as vulnerable as I do now.

4. % Ihave never felt as vulnerable as I does now.

Question Number : 142 Question Id : 140973642 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that can be used as a one-word substitute for the given group of words/phrase.

‘Something that is easily broken’

Options:
1. & Mobile

2 o Fragile

3. # Relations

4 % Protection

Question Number : 142 Question Id : 140973642 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that can be used as a one-word substitute for the given group of words/phrase.

‘Something that is easily broken’

Options:

1. % Mobile

2 o Fragile

3 % Relations

4. = Protection

Question Number : 143 Question Id : 140973643 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that can be used as a one-word substitute for the given group of words/phrase.

‘Fear of confined places’

Options:
1. » Acrophobia

2  Claustrophobia

3 w Aerophobia

4. » Hydrophobia

Question Number : 143 Question Id : 140973643 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that can be used as a one-word substitute for the given group of words/phrase.

‘Fear of confined places’
Options:

1. = Acrophobia

2 Claustrophobia

3. x Aerophobia

/. » Hydrophobia

Question Number : 144 Question Id : 140973644 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blanks with the most appropriate option.

The Chief Minister shouted her cabinet ministers, leading en masse resignations.
Options:
1 5% the, in

2 % Noword required, at

3 « atto

4. w the at

Question Number : 144 Question Id : 140973644 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate option.

The Chief Minister shouted her cabinet ministers, leading en masse resignations.
Options:
"I - thE: in

2 % Noword required, at

3w atto

4. % the, at

Question Number : 145 Question Id : 140973645 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blank with the most appropriate option.

Our mistake was to follow an autocratic leader.
Options:
1. » feeling

2 % Wwily

3 o blindly

4] = foolish

Question Number : 145 Question Id : 140973645 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

Our mistake was to follow an autocratic leader.
Options:

1. = feeling

2 x wily

3.  Dlindly

4. = foolish

Question Number : 146 Question Id : 140973646 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blank with the most appropriate option.

The painter went missing from his yacht last night.
Options:
1. % grumble

? « iconic

3 » smilingly

/. w suspect

Question Number : 146 Question Id : 140973646 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

The painter went missing from his yacht last night.
Options:

1. = gumble

7. & iconic

3. smilingly

4. w suspect

Question Number : 147 Question Id : 140973647 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blank with the most appropriate option.

I should have asked her when she me last night.
Options:
1. & call

? w calling

3. « called

4 = calls

Question Number : 147 Question Id : 140973647 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

I should have asked her when she me last night.
Options:
1. = call

2 « calling

3« called

4. = calls

Question Number : 148 Question Id : 140973648 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blank with the most appropriate preposition.

How can you identify a criminal a police line-up?
Options:

1. « on

? % into

Question Number : 148 Question Id : 140973648 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate preposition.

How can you identify a criminal a police line-up?
Options:

1. = on

2. = into

3. v in

4. » with

Question Number : 149 Question Id : 140973649 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blanks with the most appropriate pronouns.

is there to help me choose dress I should wear for the wedding?
Options:
1. = Their, who

?  Who, which

3 = For, ours

4. » Whom, who

Question Number : 149 Question Id : 140973649 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate pronouns.

is there to help me choose dress I should wear for the wedding?
Options:

1. = Their, who

2  Who, which

3w For ours

4. % Whom. who

Question Number : 150 Question Id : 140973650 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blanks with the most appropriate option.

The couple their extended family attended the function, their foster son stayed away.

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. and. but

2 because, and

3 or but

4. but, 1s

Question Number : 150 Question Id : 140973650 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate option.

The couple and their extended family attended the function. their foster son stayed away.

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. and, but

2 because, and

3. o but

4. but, 1s



Question Number : 151 Question Id : 140973651 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the word that is INCORRCTLY spelt in the sentence below:

“The US is withdrewing from the IMF Treaty”, said Donald Trump, to the dismay of many of his peers.
Options:

1. % Dpeers

2 w dismay

3 . Wwithdrewing

4 w treaty

Question Number : 151 Question Id : 140973651 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the word that is INCORRCTLY spelt in the sentence below:

“The US is withdrewing from the IMF Treaty”, said Donald Trump, to the dismay of many of his peers.
Options:

1. % peers

2 x dismay

3. » Wwithdrewing

4. = treaty

Question Number : 152 Question Id : 140973652 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blank with the most appropriate option.

We by the side of the volunteers fighting for justice.
Options:
1. & will

?  stayed

3. % could

4 = won't

Question Number : 152 Question Id : 140973652 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

We by the side of the volunteers fighting for justice.
Options:
1. = will

2 o stayed

3 % could

4. w won't

Question Number : 153 Question Id : 140973653 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate synonym of the given word.

PROUD
Options:

1. ® Humble

? « Conceited

3 x Lowly

4 = Allies

Question Number : 153 Question Id : 140973653 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the given word.

PROUD
Options:

1. = Humble

7 « Conceited

3. x Lowly

4. = Allies

Question Number : 154 Question Id : 140973654 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blank with the most appropriate option.

Our have fought with unmatched valour through this long and bloody war.
Options:

1. ® mind

2 w Wweapons

3.« soldiers

4. » willpower

Question Number : 154 Question Id : 140973654 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

Our have fought with unmatched valour through this long and bloody war.

Options:

1. %= mind

2 % Wweapons

3« soldiers

4. « willpower

Question Number : 155 Question Id : 140973655 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate ANTONYM of the given word.

ATTACK
Options:

1. # Beset

? g Charge

3. « Defend

Survive

4.

&

Question Number : 155 Question Id : 140973655 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the given word.

ATTACK
Options:
1. = Beset

2 u Charge

3. « Defend

4. = Survive

Question Number : 156 Question Id : 140973656 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that can be used as a one-word substitute for the given group of words/phrase.
‘Pitching into’

Options:
1. » Provoking

7 o Criticising

3 » Maltreating

4. » Exonerating

Question Number : 156 Question Id : 140973656 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that can be used as a one-word substitute for the given group of words/phrase.

‘Pitching into’
Options:
1. =« Provoking

o I Criticising

3. % Maltreating

/. « Exonerating

Question Number : 157 Question Id : 140973657 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that has used the highlighted word correctly in the sentence.



Options:
1. » Iappraised my boss of the situation.

? % Averse weather conditions in winter made the people stay indoors.

3 . Hewasunable to give a credible explanation for his behaviour.

4. » Therebels were interred in the military jail.

Question Number : 157 Question Id : 140973657 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that has used the highlighted word correctly in the sentence.
Options:

1. « 1appraised my boss of the situation.

2 w Averse weather conditions in winter made the people stay indoors.

3. Hewasunable to give a credible explanation for his behaviour.

/. « Therebels were interred in the military jail.

Question Number : 158 Question Id : 140973658 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the meaning of the following idiom.

“To hit the sack’
Options:
1. » To do or say something exactly right



?  Togotobed

3 % To join a popular trend or activity

4. % Tokeep something away

Question Number : 158 Question Id : 140973658 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the meaning of the following idiom.

“To hit the sack’
Options:

1. % Todo orsay something exactly right

2 » Togotobed

3. % Tojoin a popular trend or activity

/. % Tokeep something away

Question Number : 159 Question Id : 140973659 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that has used the highlighted word correctly in the sentence.
Options:
1. % She flouted her new dress at the wedding party.

? . She honed her writing skills.



3 x Icovered my nose when I walked past the noisy dump.

4. » HisFrench was practicable in his job, which required frequent trips to Paris.

Question Number : 159 Question Id : 140973659 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that has used the highlighted word correctly in the sentence.
Options:
1. % She flouted her new dress at the wedding party.

% I She honed her writing skills.

3« | covered my nose when | walked past the noisy dump.

4, =

His French was practicable in his job, which required frequent trips to Paris.

Question Number : 160 Question Id : 140973660 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Identify the correct meaning of the highlighted idiom in the given sentence.

By working part-time two days a week and looking after her kids, Sarika managed to get the best of both worlds.

Options:
1. # To solve two problems at once

2 w Todo something that is very easy



3  Toenjoy two different opportunities at the same time

4. » Todosomething badly or cheaply

Question Number : 160 Question Id : 140973660 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the correct meaning of the highlighted idiom in the given sentence.

By working part-time two days a week and looking after her kids, Sarika managed to get the best
of both worlds.
Options:

1. ® Tosolve two problems at once.

2 « Todo something that is very easy

3. Toenjoy two different opportunities at the same time

/. % Todosomething badly or cheaply
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Question Number : 161 Question Id : 140973661 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T & @ 7 o1 ue2 agg B2

Options:

4, v TBH

Question Number : 161 Question 1d : 140973661 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T & @ T o ue2 aET 2

Options:

1.« o

2 ow SEN



Question Number : 162 Question Id : 140973662 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e § § FIF T e d=T AT &7

Options:
1 L ﬁ

Question Number : 162 Question Id : 140973662 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

=T & @ #iF 3 e T57 Fer 87

Options:
1. & Yeam
2 w 9

quﬁ"iﬂ?



Question Number : 163 Question Id : 140973663 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T 7 8 &9 I o 87 &7

Options:
1. « TTer

Question Number : 163 Question 1d : 140973663 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o § & &9 Ir o a=8F &7

Options:

1. v
2. » WA
3. % ®oer
4, » TASHA

Question Number : 164 Question Id : 140973664 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



o # O =i9 I oeg I8 H F8l 87

Options:
1. » Tood

2. v et

Question Number : 164 Question Id : 140973664 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T # O =7 I e Ic8H el 87

Options:
1. = Yedd
2. v T&l
3. x Yo
4. x B9

Question Number : 165 Question Id : 140973665 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o= 7 ¥ +iF 3 e 3Eacw" &2
Options:

1.



Question Number : 165 Question Id : 140973665 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

= § ¥ FF I o2 =98 F &7

Options:
1, « @
2. v TS
3w FA
4. % FH

Question Number : 166 Question 1d : 140973666 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T # O FiF I e 237 87

Options:

2w T



Question Number : 166 Question Id : 140973666 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T 7 O FiF °r s 2 F 87

Options:
1. = ©=
2. & A
3. v Rfer
4. = T

Question Number : 167 Question Id : 140973667 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

7 &7 ¥ FiF @7 A= T &7
Options:

1.Jﬁ1’-ﬂET



Question Number : 167 Question Id : 140973667 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T 7 O FiF I s Bl 22

Options:

1. v MR

2_3@%

Question Number : 168 Question Id : 140973668 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e & © A TT ouee Bl A6 &2

Options:

4. v FER

Question Number : 168 Question 1d : 140973668 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



e & o FiF T7 ue A a5 &2

Options:

1. = ool
2w HEGA
3_ W ™,

Question Number : 169 Question Id : 140973669 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FeET F FY fa=de gem:
Options:
1. ¢ gt + JcHd

5 T+ FET
3. % Y + ScHd

. = a9 + ScHd

Question Number : 169 Question Id : 140973669 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Fecaa & @ A= g

Options:



T + 308

5 & T+ FeHd

3 & 55 TN

4. & =3 TS

Question Number : 170 Question Id : 140973670 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FATEOT F P T TAT 272
Options:

1. » Heodr 99

Question Number : 170 Question Id : 140973670 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘FATHAOT H FiA G TAH 87
Options:

1. &= Hgdr 9=



Question Number : 171 Question Id : 140973671 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

s FE 9 Fr gAT 27
Options:
I R EGEIEES

3. HAGar=ESR

4. « TET¥ETES

Question Number : 171 Question Id : 140973671 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

s FE 9 Fr AT 27

Options:




Question Number : 172 Question Id : 140973672 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘g?iﬂ'mmmﬁaw#

Options:

Question Number : 172 Question Id : 140973672 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘geter form g &1 faegwor 872

Options:



Question Number : 173 Question Id : 140973673 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o & & SonYs BT Sl o 27

Options:

Question Number : 173 Question Id : 140973673 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o= & @ wonds B i d@ 27

Options:

1. = SETAT
Y T |
3_ # Al

Question Number : 174 Question Id : 140973674 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



HTT T B2
Options:

1,J'\q'cc&Fl'FFl'

Question Number : 174 Question Id : 140973674 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘HTT FAT &7

Options:

1gﬂéﬂm

2 % T
3. % [Ewor
4 = FTT

Question Number : 175 Question 1d : 140973675 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘OiEaT # T 39T &1 9T el g7
Options:
1. 9



Question Number : 175 Question Id : 140973675 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ofEde # fFE ST # g gan B2

Options:

T. & 9
2 x W
3 o 9

Question Number : 176 Question Id : 140973676 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘FreaaT ﬁﬁmmmmg}n?ﬂ

Options:

1. @&

2
&
A



w
&
4

4, v R

Question Number : 176 Question Id : 140973676 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘mﬁﬁmmwmg}na‘?

Options:

Question Number : 177 Question Id : 140973677 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

=y’ g JarIarET 27

Options:

1. % e

3. « U&H



Question Number : 177 Question Id : 140973677 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

= g garaaET 27

1. « Tl
2. » A

3 v T&H
4, = fogor

Question Number : 178 Question Id : 140973678 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘HES & g g
Options:

1.« &

Question Number : 178 Question Id : 140973678 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



‘HHS W IHETE g

Options:

1 & ¥8
9 .4 T
3. = &
4, = @

Question Number : 179 Question 1d : 140973679 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘TS FT 9ATISTET Adl 2
Options:
1p. T

4 » W

Question Number : 179 Question Id : 140973679 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TS FT 9ATISTET Adl 8

Options:



2. » W
3. = s
4, v W

Question Number : 180 Question Id : 140973680 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Options:

1, v o

Question Number : 180 Question Id : 140973680 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Options:

1. » =
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Question Number : 181 Question Id : 140973681 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T F THIEE E:



Options:
1. = HYTeh{

A % TFemeT

Question Number : 181 Question 1d : 140973681 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T F THIEE E:
Options:

1. @ B

7 AT

3. » TSR

4 = IGRIETS

Question Number : 182 Question Id : 140973682 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fepse W FET §

Options:

1.« T



Question Number : 182 Question Id : 140973682 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Fepse & ST &

Options:

1. = T

Question Number : 183 Question Id : 140973683 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fohy FT TIAT FIET:

Options:



3. % I

A v HIEE

Question Number : 183 Question Id : 140973683 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Fohy FT AT FIET:

Options:
1. =« fase
2. % ERNOT
3. w  HIO
4, v FIEY

Question Number : 184 Question Id : 140973684 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘vaa Faer BeH =g 27
Options:
1. v 3T



Question Number : 184 Question 1d : 140973684 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘gaqd aer T e 27

Options:
1. v 3=
2 x TEow

Question Number : 185 Question Id : 140973685 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘T e TeE g g

Options:
1. & TET7

Question Number : 185 Question 1d : 140973685 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



‘TR Sger e e gem?

Options:
1. & =
2 o Oy

3. » fe=

Question Number : 186 Question Id : 140973686 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T & Th UG F AN GEY TS FT S HT FRATEH 3chal FEddl &

Options:
1. v 3T

3w HH

A« v

Question Number : 186 Question Id : 140973686 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT & TF 9 F AN GEY TS FT S HT FRATEH 3cehaT FEddl &

Options:



2. = gEIar
3w WHH
4 = TEae

Question Number : 187 Question Id : 140973687 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘TAN UAT AT ATFT FH TSHY F 3EEI0T 27

Options:

1. % TIAYOT qEeer

7w fohaT ggEy

3 » TAT 9EaY

A = mw

Question Number : 187 Question Id : 140973687 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘TAA UAT AT ATFT H TEHY F 3807 27

Options:

1. « o 9eay



3. v W& 9GEY

Question Number : 188 Question 1d : 140973688 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘FT 9T 9394 &, 99 HoF Sida g1 99T H ‘T I 84T ¢ [FF YRR F 399=T g7

Options:
1. » BT 39917

Y % HEATH 399TT

3 u foowor syIeT

4. » TFar R 3uaey

Question Number : 188 Question Id : 140973688 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘T IT SHAT &, 99 HeF o g1’ I H T9 9T  HdAT £ Y IR & 399 27
Options:

1. % WA 3995

[
2  w TIAH 399197



3.« Eowor 3UEET

4. » Fhar REeNoT 3uET

Question Number : 189 Question Id : 140973689 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT % AR A fohdel TR & BT 87

Options:

1. = 2

2. 3

Question Number : 189 Question 1d : 140973689 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT % HJER AT & fohdel TR BT 27

Options:
1. = 2
2. v 3



Question Number : 190 Question Id : 140973690 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fa=er IFAar £ T YR #T I 27

Options:
1. « He a1

2« Ty am

3 % Hgﬂ'd CIEE2

Question Number : 190 Question Id : 140973690 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fa=elr IFAAT £ FE 99R F I 22

Options:
1_ w  HIel 9l

2 x Ay asw

3 & \Hgﬂm—! CIEE!

Question Number : 191 Question Id : 140973691 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

‘I @ forar geml’ e 9o F AT 22

Options:
1. & FITa=H

2.« TOEAT T

3 o UE T=EH

4 « F9OT d=w

Question Number : 191 Question 1d : 140973691 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I @ forar geml e 9o F AT 22

Options:

1. = 9Aa=ER

2 x @THET I=F

Question Number : 192 Question Id : 140973692 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UgsHH #I T H FiT @ I %_;a%‘?

Options:




1. » 9% dsar § a1

4. » ¥ O« aisar 8l

Question Number : 192 Question Id : 140973692 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Wﬁﬁ#ﬁﬂmmaﬁé‘?

Options:

1. » 9 dgar § a1

2. x 98 alsar o Bl

3, « o 35 § T7

4, » T O a5 2

Question Number : 193 Question 1d : 140973693 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e #1 TRE T HiF W@ aHT YL &7

Options:
1. « TSI AT



7 » TA-T=AT HT
3 TAT-T=AT HIT|

A« TA-TAT AT

Question Number : 193 Question Id : 140973693 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Hegg &1 T ¥ =i 3@ I aﬁé‘?

Options:

1. = TSI AT

2 » TSI HT

3.«  TSAT-TAT HTAT

A x TST-TAT AT

Question Number : 194 Question 1d : 140973694 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

oo 7 @ 5w weg @ T E 87

Options:

1. = enf&

-2
&
%



A « TATS

Question Number : 194 Question Id : 140973694 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T & @ 5w ereg & 3o 3= 27

Options:
1 . oM
7. w WA

Question Number : 195 Question Id : 140973695 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e 7 @ 5w weg @ T aRE B2

Options:

1. v BEE

3. » HaE



Question Number : 195 Question Id : 140973695 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o & @ 5w oreg & Fae e 27

Options:
1. v BHEIE
2w TEAA
3. » W
4. = T

Question Number : 196 Question Id : 140973696 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T 7 ¥ &g o 71 v &=ferT 7 & aar &7

Options:

1.« @

4J3[GﬁT

Question Number : 196 Question Id : 140973696 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T & o g o= 1 93T =ifeEr 7 & Far 22

Options:

1. =« @
2 =« &%
3. & o8
4., v FET

Question Number : 197 Question Id : 140973697 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o 7 ® 5w e &7 AT g H g 87

Options:

1 » FEHR

Question Number : 197 Question Id : 140973697 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e & @ 5w ereg @1 92T gieer 7 gar 27

Options:



Question Number : 198 Question Id : 140973698 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HIU-IE Meq I9H H Hel Y §

Options:

2 o fewar - &=

3« HEF - fEw

4, = TET - HET

Question Number : 198 Question Id : 140973698 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HU-IE Meq I9A H Wer Y §
Options:

1. = el - e



Question Number : 199 Question 1d : 140973699 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Wﬁwmmﬁr’#ﬁmmamé’:

Options:

4'qu-q-r

Question Number : 199 Question Id : 140973699 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

WYY H IH FA T F [T Tl AL &
Options:

1_&‘?’&?&3?”



4\,,#‘:!17:&@”

Question Number : 200 Question Id : 140973700 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HTT S BT HETEX F HE T4 g 7T A g 27

Options:

1. & TG

9 i TTEE T e

e ]

3. « R g

4, = HO B

Question Number : 200 Question Id : 140973700 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HIT ST AT HEraY F T g4 5w e A gar 22
Options:
1 & Sgd AT gle

o TEET AT g

3. » fEiaa g



4.« TR



